Answer two out of the three following three questions:

1. Why and how do suburbs and suburbanization represent a challenge for urban policy
and planning? You can freely restrict the scope in terms of issues and/or geography
(i.e., country, type of country, continent, or part of the world).

2. One of several types of growth-oriented urban policies revolves around differential
advantage. Cities try to nurture local differences as a means to gain or recreate
economic success. What are the potential benefits and risks of such policies? Try to
make use of the Bilbao case.

3. Contemporary planning theory has launched several models that attempt to create

inclusive and participatory planning processes. Present and discuss one or more of
these models.



